Quiz 7
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1. Consider the surface in zyz-space defined by the equation z? — y? — 2% = 1.
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: 2. A surface is given in rectangular coordinates by the equatlon z —\:c + y%. Write the
[‘7 ] equation in spherlcal coordinates. :
Sine X© +gl*r7— @ A(%efm{wb@j pou couldd use Te
O/V\QQ = (,) S\V\Qg @ Q%UQVCI‘CMA ¢ ) @
wg s
The o uatton > = x2ty* PS( :

\(;, Wl m@cozum‘féw qs
he cows _ = P sin d)L
4 €cm ¢@(P 0 o éf(ﬁg”‘é 2 O +[fs«\n¢mq(§

whielv can b€ S"i‘W\pl'\'Plej fo give Yine
Same auswlr gs aqr [eFf.

[7] 3. Find a vector which is tangent to the curve r(t) = (tcost,sint,t) at the point (0,0,0).
@A{-%W (0,0,0) we bave £ =0 ,
So Tra damget vedin <t TWu peind () wlh ¢=0,

Tow T2 /()= Lt wtamt, ot >
co whew €20 we b o @
o) < 1-0, &/(>



Aﬂ'e rV\Rb M‘Q@W\ #( o Qucz /7 i
C L\amye (’J—(’?} T“‘l:/ \)—2:> F@@m C\/(v‘v\o/ﬂ'caﬂ w@/ka&/wmg/

c 8 2

o sphoiead) coorelivales [ 0, 0, é) |

ggD(uQL’\M\: fr’\/\/& X:rwﬂ@ :EWE:E:&
J2

O‘N\OR \JEFS‘IV\@DJZS;V\E:%:()\g y
I r(’(\[emyw(cv\ (/0—6’\60/1/‘N;Q:OA ano ?(:\Efy:l)\‘sfg: 12

Toefos p=drivyieer = irs+s -Jg. @

Wh a(*’&%% Rvew) (’9:%\ ®




